N - o [ kY N LR 2025/4/19~29 IR i ED)/E R E
e ORI LR LR TRERS PR 75 B AV i FrEs TR ok
T[R4 TR R e 4
A f+ &R 197 20 RIVA My 50 6L e 8fir
desany | 48100 Lo0m HO XB 11.51 (-0.4) [Br&  Atet 11.66 (-0.4) [#& L AKER 11.80 (-0.4)|mE 2 11.94 (-0.4)[5x# M@=+ 11.98 (-0.4)[EK XiE 12.04 (-0.4)|#&E B% 12.07 (-0.4)[EH 16K 12.18 (-0.4)
BHIRALAC - ER Wi - VIR S=VIES - EHKR F#-AEBe - EHKH -t e
sa200 | a00m ML EIRER 54.86|MK 2iE 56.67| 1Ll & 57.67|fHE nb 57.77|H% 5 59.40[3@)11 A 1:00.11| Pk At 1:00.26| B &4 1:01.59
WE - eSSV F#-ERS s )l - k) h - ETEEG s Frt Rl RS
am200 | 3000m ME S 9:27.25| = #K 9:33.26|FE =5 9:34.17(uil HEHE 9:36.72| %R #&E 9:37.43|1FA X 9:40.56|Alg )z 9:41.29|488 2N 9:45.87
i g Fig-ikAS - g iR F#-RAES Rl )t halll- k) W Frt
sAat9n | 11omu EF = 16.16 (-1.4)| k7% BAEH 16.74 (-1.0) | k&7 #= 16.75 (-1.4) [tk & 17.62 (-1.4)|=m mt/ 1 18.67 (-1.4) @A &k 19.10 (-1.4) (M =3 1958 (-1.4)[;FH KK 20.15 (-1.4)
BTG EHIRAKAC W& EHIRAKAC F#-RAES A s Fi#l-ETERG
KiHx BKRE 1.65|1E8: FH 1.65EE8 RS 1.60 =5 K 145|FR EXK 1.45
sA20n | e BEFHIRAKAC BHIRAKAC Ll EHRAKAC Li-EEp
BR EX 1.60
k&)l wf)lsh
sAa10n | ek B 5.74 (-0.3)|/NI BEKR 5.69 (-0.1)| &K1 EF 5.46 (-0.2)| B8R 7&9& 5.45 (-0.2) = SkE 5.42 (-0.5)|KlE  HhZ 5.40 (0.0)[ AR 2} 527 (+0.2)[ LT #K 5.25 (+0.4)
il AR ET t#g-ER$ )l - -G F-dE s - B we- e
inton | me WE +E 11.66|%R TR 9.52|FH &K 853|FAH K 1.74|lEE £EB 746\ # 7.19[AL ﬁi 707\ WFE & 6.89
E RS-V - P - AR s P A -G -
1A20n | maws WE +E 26.98|}% R }Jﬁtﬁa 18.90|FB8 & 15.48|iE LR gf;.’i 13.59
)l )t il - b
e , FIER BES 11.95(®l  ZAE 11.41|EA =HE 11.21|FH & 10.99|#/ ik B 10.75|#E FAE 9.97|E£R JeiE 9371k WE 9.32
e e I T L R AR L - ™ +am AL
iaoon | mae BB RIB 35.87|"TH  BE—EB 33.77|FE8 BB 33.71|®ul ERE 28.98|#tL #HEB 25.65| &% SbE 24.32|&E HHE 22.65
AR g aN=E) g + BT g + BT
SA19E | remgp [ 1B 1393k B I e 30.42
K KR =L
ket | amen | 1om |[FR FKX 11.33 (-1Lo) vk & 1142 (-1.5)|% & &R 1151 (-1.5)|H#E K5R 1157 (-1LB) A 1&EK 11.61 (-1.5)|BaAS  SRAKEB 11.65 (-1.5)|H: KA 11.66 (-1.5) |l A& 11.68 (-1.5)
™ * Select L [SIE Bl S1E L B A RFEAC BIRE RFEAC
sroon | 200m EiR FK 22.71 (+0.1) |4k & 22.72 (+0.1) &= #=ig 2275 (+0.) |+ 8 = 22.83 (+0.1) (@ fhAEA 22.99 (+0.1)[H#%E K&K 23.13 (+0.1) |t/ & 23.21 (+0.1) |71l BE 23.27 (+0.1)
Select i = H = HAb Ealist=alEs = HE = H aNEL)
sa100 | 100m ETH OEEK 51.58[;tt@ N 51.62|11\F  # 51.76[/tk & 52.90[x# £ 53.44(HHE E 53.92|#)Il  #E4E 55.18
FHEHEX SHE AT g AR =M =/
sr200 | s0om E=1= s 2:01.24|31B B0 2:01.61%H EXK 2:02.07|50H 2:03.22|FHR & 2:03.71|&l 1Ak 2:04.61|1E HZ 2:11.67
HBERIERA INFB aNEL] =M 155 E 4 N il
sa198 | 1500m ER MR 4:00.78|fHL B % 4:01.02[@)11  #¥E 4:02.73[+F88 £ 4:04.29|89 Btb 4:04.64| 518 & 4:07.95| 51 BT 4:0855|3EF KM 4:11.44
= H B #EK T RER = B AR = H B Ak = H B Ak +BHT FRFE = H B A&k
sa190 | 110mm B EE& 14.62 (-0.2)|&=2 1& 15.65 (-0.2) [T #= 15.73 (-0.2)[#H K& 15.74 (-0.2) B8  #X 15.77 (-0.2)|BE X 16.03 (-0.2) R HE 16.31 (-0.2)|Em® 2% 16.48 (-0.2)
7N H ET BEiRFE AV 75 H BT + HET + B H#T adiit] a4
1200 | 100mr Bl ExN 58.86|fM %k 58.86| &% )&% 1:00.20| KE #13k 1:00.45(fRa 1:01.02[;t2@ f&A 1:02.49|KE 1&f& 1:02.57(Fib #K 1:07.75
BT =H i BERFE AR 152 B4 =M EN-II=E -
BB A 9:44.96|= L, & 9:57.50(= /& 2B 10:03.11|a0 15 10:45.36/\th B3k 11:18.28
ARI9R | 3000mSC |4 g AT SHEIH BAIR S E e
Pz NI 23:21.03|&% 4 23:39.88|#H —& 27:06.85|E+H =E 28:37.46| /R mEE 30:48.09
201 | 5000mW oy SRR B . o
L] 44.34| Eis 44.73|5H 45.50| = EALHA 45.61|BEIRFE 45.92| /hF & 46.28|team’Ezk 47.42
FH &m wI EEE kB BRE AHE KA /NS VINN=STTRESR S, ngE skiE
4H200 | 4x100mR [BH =& IR B BE B FE R H  fKER AFHF =X 2% kK
EE H FO BA RS =M RX KHE FIk HO K#H AL K
KFE A BE EE RE #H =2 HE K &R E HE A
inoon | TH OEEK 1.85|)1:2 K= 1.85|A+E 3t 1.80|E Eik 1758 ¢ 1.75|+8 ®Hz= 1.75|%&8 BA 1.70|mfE BE 1.65
FHEHEX + BT team’=zk team’=zk ey VII=E-] RS A RS A B EA
sA10n | ek I EEE 6.49 (-0.4) |14 K% 6.20 (-0.4) |5 6.13 (+0.4)|=1E IR 6.08 (-0.2)|ABk)I| #£9 6.07 (0.0)[xB % 5.93 (0.0)[EA  #EA 590 (+0.4)|ER H= 5.89 (+0.2)
il BHIRAKAC—#Z 155 E4 RRFAC P =/ [155Ea =M
a2on | =pe TR &K 14.09 (+1.7)|=5E #h 11.65 (+1.4)|RE #$& 11.24 (+0.5) [/ £5F9 10.84 (+1.3)
FHEHEKX =M =H NiE
1A20n | o il &t 6451 |1#RE 1Bk ] 4836|B% 44.92|tkE —H 4436|184 (i 4374|482 B¥ 39.13|&HE 36.64|HE EE 34.77
+ H BT RER R AT AN = H aNEL) = H adiit] i
- , DSV CP2d 16.90|&&)I PuE 10.59
R B ) [ s E A
RE 88 51.95
4198 | rve—# =45




o S5O LB - SR T A ﬁia < REZ 2}25/4/19~29 _ :%%JE EP/% E?ﬂ/%‘ HE
[ixse a e Lk 2 Rl b b3 Gk EAT BIR Fo
E(idbilr ke bR Rz 44
A L T AF19A 100m KR BE 13.28 (-1.5)|KE » 5 13.33 (-1.5)|HIe &= 13.35 (-1.5) |3k #E 13.36 (-1.5)| k& =i 13.63 (-1.5) jJDEz%f ESyL] 13.69 (-1.5)[1LO  ZFE&E 13.71 (-1.5)|'h\82  thE=% 13.92 (-1.5)
BHIRAKAC BHIRAKAC BHIRAKAC BHIRAKAC BHIRAKAC - EECKM BHIRA&KAC BHIRA&KAC
AR 20H 200m KEE oo 26.94 (-0.3)| K8 EBEY 27.92 (-0.3)|pE FH 28.34 (-0.3)|BE&k &k 28.85 (-0.3) |5k =1 29.10 (-0.3)|&mH 41t 29.43 (-0.3)|M2 12z v 29.57 (-0.3)|fHEF =& 30.13 (-0.3)
FHIRAKAC - gk N SN Lig- &R - EHkHR - ER+ )l %) EH NN SN
AA19A 100miI KR BE 1458 (-0.7)|FIE EfE 15.08 (-0.7)[1LO  ZFE&E 15.14 (-0.7) |3k #E 15.60 (-0.7)|"h\E2 thE% 16.11 (-0.7)| K& == 16.43 (-0.7)|2FH KEH 16.48 (-0.7)|f@O =¥ 16.58 (-0.7)
BHIRAKAC BHIRAKAC BHIRAKAC BHIRAKAC BHIRAKAC BHIRA&KAC wE - FHEE WE - FHAF
MEREZS EEEER 1.35|E@ W 1.35 IR T 135|838 oE 1.30[fE mR 1.30(%m 5 1.30
ah208 | BHIRAKAC BHIRAKAC BHIRAKAC BHIRAKAC BHIRAKAC k- e -wesREE
B TE 1.35
N SN
AA19H Rk ZM LI%" 443 (+0.4) R 1Z0FE 441 (+04)| Rl 24 4.35 (-0.5)[tiB 5 424 (+0.4) |55 R 4.07 (-0.4)|<H #E3k 4.04 (+0.6) | Z£T5 3.97 (-0.3) |2 RE 3.92 (-0.1)
it EEAMER FHIRAKAC WS- e E S WS- FrHh i EER WS- FrEh sl - %) EH WS- FrHh
Uiion | pap |BE XE saslkE i 8.32| ARE & 8.13|2% wR 7.62[ 0 BE 7378 ®E 6.88|8RMA 1&E 65800 BBz 5.86
ik SR - = il kBETH L sde R BT EES ER-VIEES- V- ik i eh LS R
. e FX 20.03|/\k IBE 13.44
VIZOR | TR |y e TR
Foke et | 48197 100m HH &1t 12.83 (-0.4)|%H HA% 13.16 (-0.4) 387 BAE 13.16 (-0.4) |12 5 *ﬁ? 13.23 (-0.4) | =l Egi% 13.23 (-0.4) |1£8E  FiE 13.30 (-0.4) | 'R = 13.48 (-0.4)
+HE = + B Ay SEAH SHEAH + B =
AR 20H 200m HH &1t 26.22 (+1.1)|3EHRE BE 26.67 (+1.1)|EE S 26.98 (+1.1)|xH g+ 27.33 (+1.1)|8E K #BE 2747 (+1.1)| g wo = 27.49 (+1.1)|FR = 27.65 (+1.1)
+R6 + B Ey S0 7< B B + B Ay 7< B B =
AA19H 400m HEE wo=Z 1:00.46|F1EF 5 1:02.09|fe K &= 1:03.48|X<H 8+ 1:04.50(/k8 (25 H 1:05.88| K% 3 1:06.50|1880 E£&F 1:07.10|3k £ =¥ 1:08.75
=L =H +HHET =L =L i =HE =H
AR 20H 800m M FEE 2:19.98|HH B2 2:39.40|E ©3 2:41.74|FH &7t 2:45.20|F L OEB 2:49.57
+HE S SHIH SEAH S
AA19H 1500m S =D 4:51.66|78lK 2% 45540/ FEE 4:56.08|REF #F1& 5:02.96 |30 A3 5:12.16|H K FEIHE 5:20.43 |80 MHEE 5:20.71| K 1ZF0F 5:33.70
+ B8 =HEE + HEy +HHET =L =H +HHET +HHET
AR 20H 3000m EE =S 10:30.92|78l5 2% 10:41.12|RE #FZ 10:49.39
+ B8 =HEE + BBy
siten | 10omn [BFE 1472 (-09)lLE &% 1491 (-0.9)|@iE MEK 1522 (09|12 BHE 1579 (-0.9)[kE AP0 16.88 (-0.9)
+R6 + B Ey + B Ay 7< B B N
AR 20H 400mH B EE 1:05.78| &8 &M 1:05.95|h12 BE 1:10.43|1@ o=y 1:11.56|KE &PV 1:13.65| &1 W 1:16.10| K% 73 1:16.80
+HE + B Ey aN=Li] EHE N i L
48208 | 5000mw LE BBRE 26:44.19|KFE 1ZnE 29:19.65( 1Ly EFE 34:38.85
aN=Li] + B Ey & H
+HBHE 50.02|=H 51.73| = Bt 52.99
BB BEIK TE B AN
47200 | 4x100mR |&EH &TE 2B w5 &g TE
HokE Rt =F FiE AE
BE BHE 2H HAK {0
. ZH BHATR 1.55|FE AE 1.50|FIX a3 1.40
47208 | EmBk =m = i
o |PKE mifE 511 (0.0) e TE 4.27 (-0.6)
4H19H EnEBk +am =
N Al FHE 10.45 (+0.6)|tb& Tt 8.88 (+0.8)
AR | B D i
BE G 7201 W 6.17[xH# &% 6.01
47190 | fah TEE b e
. e PE 26.99|HANT =M 26.97[ 1Ly EFEF 22.89|K2 FEF 2257FH ER 20.15
VIR TR oy SmI oL N e
S [ = N OV 38.18|EF 25.47|8K XK 21.84
ARIOR | e A £
. R OER 31.25|1 4K OHh B 28.62|/\ Pk ZRR 18.47
VIZOR | ROE N PN




